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FIRST YEAR T. D. C. COMMERCE EXAMINATION, 2018 

ENVIRONMENTAL STUDIES  

i;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;u    
Time: Three Hours 

Maximum Marks: 100 
 

INSTRUCTION/ funsZfunsZfunsZfunsZ’k’k’k’k    

1. The test booklet contains total 100 questions. Each question carry 1 (one) mark.  

 iz'ui= esa dqy 100100100100 iz’u gSa rFkk izR;sd iz’u 1111 vad dk gSA  
2. Candidate shall be required to attempt all 100 questions.  

 lHkh 100100100100 iz’u gy djus vfuok;Z gSA  
3. No negative marking.  

 _.kkRed vad ns; ugha gSA 
4. On receipt of test booklet, the candidate should immediately check it and ensure that 

it is complete in all respect. Discrepancy, if any, should be reported by the candidate 

to the invigilator within 10 minutes of receiving the test booklet.  

 Nk= iz’u cqdysV izkIr djrs gh lcls igys mlds dqy i`"B rFkk iz’u la[;k tk¡p dj ys] 
;fn iz’u i= esa dksbZ =qfV vFkok dVk&QVk gks rks rqjUr i;Zos{kd dks lwfpr djkosaA 

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken 

the circle corresponding to correct answer.  

 Nk= dks lHkh iz’uksa ds mÙkj OMR 'khV esa nsus gSaA Nk= dks lgh mÙkj ds dkWye dks 
dkyh isfUly@dkys isu ls xgjk dkyk djuk gSA 

6. While answering each question, candidate should blacken OMR properly with HB 

pencil or black ball pen as per instruction printed on the OMR sheet.   

 Nk= dks mÙkj nsrs le; OMR 'khV ij fn;s x;s funsZ’kksa dks /;ku esa j[krs gq, ,p- ch- 
isfUly vFkok dkys isu ls gh dkWye dks dkyk djuk gSA 

7. For each question only one circle should be blackened. If more than one circle is 

found marked, the question will be treated unattempted.  

 Nk= dks izR;sd iz’u dk mÙkj ,d dkWye esa gh dkyk dj nsuk gSA ;fn ,d ls vf/kd 
dkys xksys cuk;s rks og mÙkj ugha i<+k tk,xkA 

8. Candidate shall be required to deposit OMR answer sheet with the invigilator.   

 Nk= dks OMR 'khV mÙkj nsus ds i'pkr~ i;Zos{kd dks tek djkuh vfuok;Z gSA 
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1. In which year Biodiversity Act was introduced in India?  

 tSo fofo/krk vf/kfu;e dkSu ls o"kZ esa ykxq fd;k x;k\ 
 (A) 1986       (B) 1990 

 (C) 1992       (D) 2002 

2. Which of the following is surrounded to all living organisms? 

 (A) Hydrosphere     (B) Environment  

 (C) Atmosphere     (D) Lithosphere  

 fuEu esa ls D;k thfor izkf.k;ksa dks ?ksjs gq, gS\ 
 (A) tyeaMy      (B) i;kZoj.k 
 (C) ok;qeaMy      (D) LFkyeaMy 
3. Which of the following is not an abiotic component in an ecosystem? 

 (A) Rivers      (B) Solar energy  

 (C) Plants      (D) Air  

 fuEu esa ls dkSu lk vo;o vtSfod ugha gS\ 
 (A) ufn;k      (B) lkSj ÅtkZ 
 (C) isM+&ikS/ks      (D) gok 
4. Who has given ‘box’ model of energy flow in a food chain? 

 (A) E. P. Odum     (B) A. G. Tansley  

 (C) Forbes      (D) P. Haggett  

 [kkn~; Ja[kyk esa ÅtkZ vizokg dk ^ckWDl^ izfr:i fdlus fn;k\ 
 (A) b- ih- vkWMqe     (B) ,s- th- VsUlys 
 (C) Q+ksClZ       (D) ih- gxsV 
5. Ecological pyramids represent the: 

 (A) Trophic structure    (B) Energy flow  

 (C) Ecological succession   (D) All of the above  

 ikfjfLFkfrdh; Lrwi bafxr djrs gS& 
 (A) iks"k.k Lrj      (B) ÅtkZ izokg 
 (C) ikfjfLFkfrdh; vuqØe.k   (D) mijksDr lHkh 
6. Which of the following is not a cause of soil erosion? 

 (A) Deforestation     (B) Overgrazing  

 (C) Intensive agriculture    (D) Over exploitation of vegetation  

 fuEu esa ls dkSu lk e`nk vijnu dk dkj.k ugha gS\ 
 (A) e:LFkyhdj.k     (B) vfrpkj.k 
 (C) xgu [ksrh      (D) ouLifr dk vfrnksgu 
7. The pollutants discharged from a thermal power station are: 

 (A) Hydrocarbon and nitrogen oxide  (B) Smoke and flyash  

 (C) Water vapour and carbon dioxide (D) All of the above  

 rki 'kfDr xzg ls mRlftZr iznw"kd gS& 
 (A) gkbMªksdkcZu ,oa ukbVªkstu vkWDlkbM (B) /kqvk ,oa ¶ykbZ,s’k 
 (C) ty ok"i ,oa dkcZuMkbZvkWDlkbM  (D) mijksDr lHkh 
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8. Which of the following is a method to minimize the air pollution of the urban areas? 

 (A) Agricultural development   (B) Green belt  

 (C) Better housing     (D) Lesser use of automobiles  

 fuEu eas ls dkSulh i)fr 'kgjh {ks=ksa esa ok;q iznw"k.k dks de dj ldrh gS\ 
 (A) Ñf"k fodkl      (B) gfjr iêh 
 (C) mér ?kj      (D) okguksa dk u;wure mi;ksx 
9 The most suitable method for soil conservation is: 

 (A) Afforestation      (B) Irrigation  

 (C) Crop rotation     (D) Contour farming  

 e`nk laj{k.k ds fy, dkSulh i)fr lokZf/kd mi;qDr gS\ 
 (A) ouhdj.k      (B) flapkbZ 
 (C) Qly pØ.k     (D) leksPp [ksrh 
10. In which year Water (Prevention and control of Pollution) Act was introduced in 

India? 

 ty ¼iznw"k.k fuokj.k ,oa fu;a=.k½ vf/kfu;e dc ykxq gqvk\ 
 (A) 1974       (B) 1981 

 (C) 1986       (D) 2002 
11. Which of the following is a pollution free source of power? 

 (A) Coal       (B) Petroleum  

 (C) Hydroelectricity    (D) Natural gas  

 fuEu esa ls dkSulk iznw"k.k eqDr ÅtkZ dk L=ksr gS\ 
 (A) dks;yk      (B) isVªksfy;e 
 (C) gkbMªksbysfDVªflVh     (D) izkÑfrd xSl 
12. Which of the following is not a source of water pollution? 

 (A) Automobiles     (B) Domestic effluents  

 (C) Sewage      (D) Industrial effluents   

 fuEu esa ls dkSulk ty iznw"k.k dk L=ksr ugha gS\ 
 (A) vkWVkseksckbZy     (B) ?kjsyw izokg 
 (C) ey       (D) vkS/kksfxd izokg 
13. Excess irrigation results into: 

 (A) Higher productivity    (B) Soil erosion  

 (C) Salinity       (D) Loss of soil fertility  

 vR;f/kd flapkbZ ds dkj.k gksrk gS& 
 (A) mPp mRikndrk     (B) e`nk vijnu 
 (C) yo.krk      (D) e`nk moZjrk dk uqdlku 
14. Tsunamis are produced: 

 (A) by Shrinking of earth’s crust  (B) by Cyclone  

 (C) by Submarine earthquakes   (D) by Tides  

 lqukeh mRié gksrh gS& 
 (A) i`Foh ds mijh Hkkx esa ladqpu ls  (B) pØokr ls 
 (C) leqæh Hkwdai ls     (D) Tokj ls 
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15. Which part of human body is highly affected by noise pollution?  
 (A) Lungs (B)   Ear    (C) Nose  (D)  Heart  
 /ofu iznw"k.k ls ekuo 'kjhj dk dkSulk Hkkx lcls T;knk izHkkfor gksrk gS\ 
 (A) QsaQMs+  (B)    dku  (C) ukd  (D)   ân; 
16. The best way to dispose of plant waste is: 
 (A) Burning (B) Composting  (C) Dumping (D)   Incineration  
 ikS/kksa ds vif’kLV dks fuLrkfjr djus dk Js"B rjhdk gS& 
 (A) tykuk (B)    [kkn cukuk (C) xk<+uk (D)   HkLehdj.k 
17. How can e – waste be treated in an eco friendly way? 
 (A) Decontamination, dismantling and segregation (B)  Shredding  
 (C) Recovery of metals from e – waste   (D)  All the above methods  
 bZ & osLV dks bdksÝSaMyh rjhds ls dSls fuLrkfjr fd;k tk ldrk gS\ 
 (A) 'kqf)dj.k] foxVhdj.k ,oa i`FkDdj.k   (B)  NksVs NksVs VqdM+ks esa dkVdj 
 (C) /kkrqvks dks iqu% bZ & osLV ls izkIr dj   (D)  mijksDr lHkh i)fr;kas ls 
18. Which of the following waste material cannot be recycled?  
 (A) Paper (B) Glass   (C) Tyre  (D)  Electronic goods  
 fuEu esa ls dkSuls inkFkZ dk iqu% pØhdj.k ugha fd;k tk ldrk gS\ 
 (A) dkxt+ (B)   dkap   (C) Vk;j      (D)   fo/kqr midj.k 
19. Which of the following energy source is considered eco friendly? 
 (A) Solar energy (B)   Coal  (C) Atomic energy  (D)   petroleum  
 fuEu eas ls dkSulk ÅtkZ dk L=ksr bdksÝSaMyh gS\ 
 (A) lkSj ÅtkZ  (B)   dks;yk (C) ijek.kq ÅtkZ        (D)   isVªksfy;e 
20. Biodiversity refers to: 
 (A) Diversity of soil        

 (B)  Diversity of landscape 

 (C) Diversity of the species of living organisms 

 (D) Socio – cultural and economic diversities 

 tSo fofo/krk gS& 
 (A) feêh dh fofo/krk     
 (B) Hkwizns’k dh fofo/krk 
 (C) thoksa dh tkrh dh fofo/krk   
  (D) lkekftd & lkaLÑfrd ,oa vkfFkZd fofo/krk 
21. Which of the following is not listed in ‘Red Data Book’? 
 (A) Endangered species    (B) Extinct species  
 (C) Flourishing species    (D) Vulnerable species  
 fuEu esa ls dkSu jSM MkVk cqd esa lwphc) ugha gS\ 
 (A) ladVxzLr iztkfr;k    (B) foyqIr iztkfr;k 
 (C) lez) iztkfr;k     (D) “s| iztkfr;k 
22. Which of the following Tiger Reserve is located in Rajasthan? 
 (A) Suhelwar       (B) Sariska  
 (C) Bandipur      (D) Valmiki  
 fuEu esa ls dkSulk Vkbxj fjt+oZ jktLFkku esa fLFkr gS\ 
 (A) lqgsyoj      (B) lfjLdk 
 (C) ckanhiqj      (D) okfYedh 
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23. Global warming is an indication of: 

 (A) Climate change     (B) Earthquake   

 (C) Eutophication     (D) Acid rain  

 oSf’od rkio`f) lwpd gS& 
 (A) tyok;q ifjorZu     (B) Hkwdai 
 (C) lqiks"khdj.k      (D) vEyh; o"kkZ 
24. Which of the following is not a primary contributor to the greenhouse effect? 

 (A) Carbon dioxide     (B) Carbon monoxide  

 (C) Argon      (D) Methane gas  

 fuEu esa fdldk gfjr xzg izHkko esa izkFkfed ;ksxnku ugha gS\ 
 (A) dkcZu MkbZ vkWDlkbM    (B) dkcZu eksuks vkWDlkbM 
 (C) vkxZu       (D) ehFksu xSl 
25. Which one of the following is not an effect of the global warming? 

 (A) Change in rainfall pattern    

 (B) Change in the toxicity level of heavy metals  

 (C) Increased likelihood of storms and heat waves 

 (D) Change in cloud behaviour  

 fuEu eas ls dkSulk izHkko oSf’od rkio`f) dk ugha gSa\ 
 (A) o"kZ.k izfr:i esa ifjorZu    

 (B) Hkkjh/kkrqvksa dh fo"kkDrrk esa ifjorZu 
 (C) rwQku vkSj xeZ /kkjkvkas dh iqujko`fRr eas o`f) 
 (D) cknyksa ds O;ogkj esa ifjorZu 
26. Montreal Protocol was concerned with: 

 (A) Control of ozone depletion    

 (B) Control of global warming  

 (C) Control of global warming and ozone depletion 

 (D) Control of biodiversity and global warming  

 eksaUVªh;y izksVksdkWy lEcaf/kr Fkk& 
 (A) vkst+ksu {kj.k fu;a=.k     

 (B) oSf’od rkio`f) fu;a=.k 
 (C) oSf’od rkio`f) ,oa vkst+ksu {kj.k fu;a=.k 
 (D) tSo fofo/krk ,oa oSf’od rkio`f) fu;a=.k 
27. In which atmospheric layer is ozone commonly found? 

 (A) Troposphere     (B) Stratosphere  

 (C) Mesosphere     (D) Thermosphere  

 fdl ok;qe.Myh; ijr esa vkst+ksu ikbZ tkrh gS\ 
 (A) {kksHk eaMy      (B) lerki eaMy 
 (C) e/;eaMy      (D) rkieaMy 
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28. Which of the following is/are the approach suggested to cut greenhouse gas 

emissions? 

 (A) Mitigation      (B) Adaptation   

 (C) Geo - engineering    (D) All of these  

 fuEu esa ls gfjrx`g xSl mRltZu dks jksdus gsrq D;k mik; gS\ 
 (A) de djuk      (B) vuqdwyu 
 (C) Hkw & vfHk;kaf=dh     (D) mijksDr lHkh 
29. Green electricity means: 

 (A) Electricity produced by trees 

 (B) Thermal electricity  

 (C) Electricity produced by those sources which are not harmful to environment  

 (D) Low cost production of electricity  

 gfjr fo|qr ls rkRi;Z gS& 
 (A) isM+ks n~okjk mRikfnr fctyh 
 (B) rki fctyh 
 (C) ,sls L=ksrksa n~okjk fctyh mRiUu djuk tks i;kZoj.k dks gkfu ugh igq¡pk;s 
 (D) de [kpsZ esa fctyh mRikfnr djuk 
30. Source of biodiesel is: 

 (A) Groundnut seeds    (B) Jatropha seeds 

 (C) Sunflower seeds    (D)  All of above 

 Ckk;ksMhty dk L=ksr gS& 
 (A) ewaxQyh ds cht     (B) vjaMh ds cht 
 (C) lw;Zeq[kh ds cht     (D) mijksDr lHkh 
31. Which of the following measures are not used in conservation of biodiversity? 

 (A) Excessive mining    (B) Deforestation   

 (C) Promotion of hunting    (D) All of the above  

 fuEu esa ls D;k tSo&fofo/krk ds laj{k.k ds mik; ugha gS\ 
 (A) vR;f/kd [kuu     (B) fuoZuhdj.k 
 (C) f’kdkj djus dks c<+kok nsuk   (D) mijksDr lHkh 
32. The reason for food crisis all over the world can be: 

 (A) Excessive population growth  (B) Natural calamities   

 (C) Poor distribution system   (D) All of the above  

 fo'o esa [kkn~; ladV dk dkj.k gks ldrk gS& 
 (A) vR;f/kd tula[;k o`f)   (B) izkÑfrd vkink 
 (C) detksj forj.k iz.kkyh    (D) mijksDr lHkh 
33. ‘Kaziranga National Park’ is famous for:  

 (A) Rhinoceros     (B) Lion  

 (C) Deer       (D) Snakes  

 dkt+hjaxk jk"Vªh; m/kku ds fy;s izfl) gS& 
 (A) xsaMk       (B) flag 
 (C) fgj.k       (D) liZ 
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34. Food chains having interlocking pattern are known as: 

 (A) Food web      (B) Energy cycle  

 (C) Pyramid      (D) Cone  

 [kkn~; Jà[kyk tks dh vkil esa ,d nqljs ls tqM+h gqbZ gks dgykrh gS% 
 (A) [kkn~; tky      (B) ÅtkZ pØ 
 (C) Lrwi       (D) ’kadq 
35. Anti – knocking agents mixed in petrol are compounds of which metal? 
 (A) Lead       (B) Silver  
 (C) Gold       (D) Tin  
 isVªksy eas fefJr ,aVh ukWfdax rRo fdl /kkrq ds cus gksrs gS\ 
 (A) ikjk       (B) pkanh 
 (C) lksuk       (D) Vhu 
36. Energy pyramids of an ecosystem are always: 
 (A) Inverted      (B) Round  
 (C) Flat       (D) None of the above  
 ikfjfLFkfrdh ra= esa ÅtkZ dk Lrwi lnSo gksrk gS& 
 (A) mYVk       (B) xksy 
 (C) piVk       (D) mijksDr dksbZ ugha 
37. National flower of India is: 

 (A) Rose       (B) Lotus  

 (C) Lily       (D) China rose  

 “kjr dk jk"Vªh; Qwy gS& 
 (A) xqykc       (B) dey 
 (C) fyyh       (D) pkbuk jkst+ 
38. For ‘Bhopal Gas Tragedy’ the chemical responsible was? 

 (A) MIC (Methyl Iso Cynate)   (B) DDT  

 (C) Peroxy acetyl nitrate    (D) Carbon monoxide  

 “ksiky xSl =klnh ds fy, dkSulk jlk;u mRrjnk;h Fkk\ 
 (A) ,e vkbZ lh ¼feFkkby vkblks lk;usV½ (B) Mh Mh Vh 
 (C) ijkWDlh ,flVkby ukbVªsV   (D) dkcZu eksuks vkWDlkbM 
39. ‘Oil Spill’ is a major problem of:  

 (A) Marine ecosystem    (B) Desert ecosystem  

 (C) Forest ecosystem    (D) All of the above  

 rsy fjlko fdldh eq[; leL;k gS\ 
 (A) leqæh ikfjfLFkfrdh ra=    (B) e:LFky ikfjfLFkfrdh ra= 
 (C) ou ikfjfLFkfrdh ra=    (D) mijksDr lHkh 
40. Ozone layer is damaged by: 

 (A) PAN       (B) CFC’s  

 (C) CO2       (D) Coal burning  

 vkst+ksu ijr~ dks uqdlku gS& 
 (A) ijkWDlh ,flVkf;y ukbVªsV ls   (B) Dyksjks ¶yksjks dkcZu ls 
 (C) dkcZu MkbZ vkWDlkbM ls   (D) dks;ys ds tyus ls 
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41. pH of pure potable water is: 

  ihus ;ksX; ikuh dh ih ,sp~ gksrh gS& 
 (A) 8.0       (B) 9.0  

 (C) 7.0       (D) 10.0 
42. The producer in an ecosystem is: 

 (A) Snake      (B) Green plants and algae  

 (C) Fungi      (D) All of the above  

 ikfjfLFkfrdh ra= esa mRiknd gS& 
 (A) liZ       (B) ikS/ks ,oa 'kSoky 
 (C) dod       (D) mijksDr lHkh 
43. Ecological succession taking place in water is called: 

 (A) Hydrosere      (B) Lithosere  

 (C) Xerosere      (D) Halosere 

 ty ds vUnj gksus okyk ikfjfLFkfrdh; vuqØe.k dgykrk gS\ 
 (A) tyØe.k      (B) 'kSyØe.k 
 (C) e:Øe.k      (D) yo.kØed 
44. World AIDS day is recalled on which day of the year? 

 (A) 2
nd

 December     (B) 10
th

 December  

 (C) 1
st
 December     (D) 14

th
 January  

 fo’o ,M~l fnol izfro"kZ euk;k tkrk gS\ 
 (A) 2 fnlEcj      (B) 10 fnlEcj 
 (C) 1 fnlEcj      (D) 14 tuojh 
45. Noise pollution measuring unit is -  

 (A) Micron      (B) Decibel  

 (C) Nanometer     (D) Hertz  

 /ofu iznw"k.k ekiu gsrq bdkbZ gS\ 
 (A) ekbØkWu      (B) Msflcsy 
 (C) uSuksehVj      (D) gV~Zt+ 
46. ‘PAN’ causes acute irritation in which human body part? 

 (A) Eyes       (B) Lungs  

 (C) Stomach      (D) All of the above  

 ‘PAN’ ls ekuoh; 'kjhj ds fdl Hkkx esa rhoz mÙkstuk gksrh gS\ 
 (A) vk¡[ks       (B) QsQM+s 
 (C) isV       (D) mijksDr lHkh 
47. ‘ELISA’ test is used to diagnose which disease? 
 (A) AIDS      (B) Malaria  
 (C) Jaundice      (D) Tuberculosis  
 ^,fylk^ ifj{k.k fdl jksx ds funku gsrq mi;ksxh gSa\ 
 (A) ,M~l       (B) eysfj;k 
 (C) ihfy;k      (D) Vhch 
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48. Full form of PAN is: 

 (A) Peroxy acetyl nitrate    (B) Para acid nitrate  

 (C) Permanent account number  (D) None of these  

 PAN dk iwjk uke D;k gS\ 
 (A) ijkWDlh ,flVkby ukbVsªV   (B) iSjk ,flM ukbVªsV 
 (C) ijekusUV vdkmaV uacj    (D) mijksDr dksbZ ugha 
49 Stratosphere contains which gas? 

 (A) Ozone      (B) Chlorine  

 (C) Helium      (D) Carbon dioxide  

 lerkieaMy es dkSulh xSl gSa\ 
 (A) vkst+ksu      (B) Dyksjhu 
 (C) ghfy;e      (D) dkcZu MkbvkWDlkbM 
50. Water gets polluted due to entry of: 

 (A) Domestic sewage    (B) Agro – chemical waste  

 (C) Industrial waste     (D) All of the above  

 ty iznwf"kr fuEu esa ls fdlds izos’k ls gksrk gS\ 
 (A) ?kjsyq vif’k"V     (B) Ñf"k jklk;fud vif’k"V 
 (C) vkS|ksfxd vif’k"V    (D) mijksDr lHkh 
51. ‘Itai - Itai’ disease occurs due to: 

 (A) Cadmium poisoning     (B) Lead poisoning  

 (C) Arsenic poisoning    (D) None of these  

 brkbZ & brkbZ jksx fdlds }kjk gksrk gS\ 
 (A) dSMfe;e fo"kkDrhdj.k    (B) ikjk fo"kkDrhdj.k 
 (C) vklsZfud fo"kkDrhdj.k    (D) mijksDr dksbZ ugha 
52. Which of the following is not a renewable energy resource? 

 (A) Plants      (B) Wind  

 (C) Animals      (D) Coal and petroleum  

 fuEu esa ls dkSulk uohudj.kh; ÅtkZ ds L=ksr ugha gS\ 
 (A) ikS/ks       (B) ok;q 
 (C) tho       (D) dks;yk ,oa isVªksfy;e 
53. Which of the following constitute biodiversity? 

 (A) Ecosystem diversity    (B) Species diversity   

 (C) Genetic diversity    (D) All of the above  

 fuEu esa ls dkSu tSofofo/krk dk fuekZ.k djrk gS\ 
 (A) ikfjfLFkfrdh fofo/krk    (B) tkrh; fofo/krk 
 (C) vuqoakf’kd fofo/krk    (D) mijksDr lHkh 
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54. Which Greenhouse gas is present in very large quantity? 

 (A) Helium      (B) Carbon dioxide  

 (C) Methane      (D) Ethane  

 dkSulh gfjrx`g xSl vR;f/kd ek=k eas mifLFkr gS\ 
 (A) ghfy;e      (B) dkcZu MkbvkWDlkbM 
 (C) ehFksu       (D) ,sFksu 
55. Layer which saves life from harmful effects of UV radiations is known as: 

 (A) Ozone layer     (B) Alpha layer  

 (C) Gamma Layer     (D) Infrared layer  

 og ijr tks ijkcSaxuh fdj.kksa ds nq"izHkko ls cpko djrh gS& 
 (A) vkst+ksu ijr     (B) vYQk ijr 
 (C) xkek ijr      (D) bUÝkjSM ijr 
56. Plants are green due to the presence of the pigment called: 

 (A) Chlorophyll     (B) Glucose  

 (C) Nitrogen      (D) Oxygen  

 ikS/kksa dk gjk jax fdl jaxæO; ds dkj.k gS\ 
 (A) gfjr yod      (B) Xywdksl 
 (C) ukbVªkstu      (D) vkWDlhtu 
57. Chief source of energy in environment is: 

 (A) Sun       (B) Moon  

 (C) Fire       (D) Star  

 i;kZoj.k esa ÅtkZ dk eq[; L=ksr D;k gS\ 
 (A) lw;Z       (B) paæek 
 (C) vfXu       (D) rkjs 
58. Which of the following problems is not created by noise pollution? 
 (A) Diarrhoea      (B) Hypertension  
 (C) Deafness      (D) Irritation  
 fuEu esa ls dkSulh leL;k /ofu iznw"k.k ls mRiUu ugha gksrh gS\ 
 (A) nLr       (B) mPp jDrpki 
 (C) cgjkiu      (D) fpM+fpM+kgV 
59. Van Mahotsav Day is celebrated on:  
 (A) 10 August      (B) 2 December  
 (C) 1 April      (D) 1 July  
 ou eksgRlo fnol dc euk;k tkrk gS& 
 (A) 10 vxLr      (B) 2 fnlEcj 
 (C) 1 vizSy      (D) 1 tqykbZ 
60. Which of the following is not biodegradable? 
 (A) Vegetables     (B) Fruits  
 (C) Earthworm     (D) Aluminium foil  

 fuEu esa ls tSo fo?kVu’khy ugha gS\ 
 (A) lfCt;k¡      (B) Qy 
 (C) dspqvk      (D) vyqehfu;e QkW;y 



[1301]          Page 11 of 16                                                    

61. When trees are cut, amount of oxygen: 

 (A) Decreases      (B) Increases  

 (C) Both A and B     (D) Remains same  

 o`{k ds dkVus ij vkWDlhtu dh ek=k& 
 (A) de gksrh gS      (B) T;knk gksrh gS 
 (C) nksuksa A ,oa B     (D) leku jgrh gS 
62. Night blindness is caused by the deficiency of:  

 (A) Vitamin A      (B) Vitamin B  

 (C) Vitamin C      (D) Vitamin D  

 jrkSa/kh fdldh deh ds n~okjk gksrk gS\ 
 (A) foVkfeu A      (B) foVkfeu B 
 (C) foVkfeu C      (D) foVkfeu D 
63. The oxygen content of atmosphere is about? 

 ok;qeaMy esa vkWDlhtu dh ek=kk fdrus izfr’kr gS\ 
 (A) 21.94%      (B) 18%  

 (C) 0.3%       (D) 79% 
64. Which of the following is not a pollutant, normally? 

 (A) Hydrocarbons     (B) Carbon dioxide   

 (C) Carbon monoxide    (D) Sulphur dioxide  

 fuEu esa ls dkSu lkekU;r ,d iznw"kd ugha gS\ 
 (A) gkMMªksdkcZu      (B) dkcZu MkbvkWDlkbM 
 (C) dkcZu eksuksvkWDlkbM    (D) lYQj MkbvkWDlkbM 
65. Cyclone collector is used for minimizing: 

 (A) Radioactive pollution    (B) Air pollution  

 (C) Noise pollution     (D) Water Pollution  

 lkbDyksu dysDVj fuEu esa ls fdls de djus ds fy;s mi;ksx esa fy;k tkrk gS\ 
 (A) jsfM;ks,fDVo iznw"k.k    (B) ok;q iznw"k.k 
 (C) /ofu iznw"k.k      (D) ty iznw"k.k 
66. Environmental degradation means: 

 (A) Mixing of pollutants in the air   

 (B) Biomagnifications of toxic agents  

 (C) Increase in pollution, toxic agents, desertification, deforestation and other 

factors that degrade the environment 

 (D) None of the above  

 i;kZoj.k vi?kVu ls rkRi;Z gS& 
 (A) iznw"kdks dk ok;q eas feyuk    

 (B) fo"kkDr dkjdks dk tSo o`grhdj.k 
 (C) iznw"k.k] fo"kkDr dkjdksa] e:LFkyhdj.k] fuoZuhdj.k vkSj vU; dkjdks esa o`f) tks 

i;kZoj.k dks vi?kfVr dj jgs gSA 
 (D) mijksDr dksbZ ugha 
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67. Blue baby syndrome is caused by: 

 (A) Carbon monoxide    (B) Nitrate  

 (C) Fluoride      (D) Mercury  

 Cyw csch jksx fdlds n~okjk gksrk gS\ 
 (A) dkcZu eksuksvkWDlkbM    (B) ukbVªsV 
 (C) ¶yksjkbM      (D) ikjk 
68. “Black Foot” disease in human beings is caused due to use of water contaminated 

with? 

 (A) Mercury (B) Cadmium  (C) Arsenic (D) Silver  

 euq"; esa dkyk ik¡o jksx ty ds fdl fo"kkDr /kkrq ls nwf"kr gksus ds dkj.k gksrk gS\ 
 (A) ikjk  (B) dSMfe;e (C) vklsZfud (D) pk¡nh 
69. The most obvious global environmental issues include? 

 (A) Global warming and ozone depletion (B) Burning of fossils fuels   

 (C)  Acid rain      (D) Air and water pollution.  

 fuEu esa ls D;k oSf’od i;kZoj.kh; eqís gS\ 
 (A) oSf’odrki o`f) ,oa vkst+ksu {kj.k  (B) thok’e bZa/kuks dk tyuk 
 (C) vEyh; o"kkZ      (D) ok;q ,oa ty iznw"k.k 
70. Man dies in the presence of CO, because: 

 (A) CO dries up blood     

 (B) it reduces the organic matter of tissues  

 (C) it combines with oxygen present in the body 

 (D) it combines with haemoglobin of blood, thereby making the latter incapable of 

absorbing oxygen.  

 dkcZu eksuksvkWDlkbM dh mifLFkfr ea euq"; dh e`R;q D;ksa gks tkrh gS\ 
 (A) dkcZu eksuksvkWDlkbM jDr dks lq[kk nsrk gS 
 (B) Ård esa dkcZfud ek=k esa deh dj nsrk gS 
 (C) 'kjhj esa ekStwn vkWDlhtu ds lkFk tqM+ tkrk gS 
 (D) jDr esa ekStwn gheksXyksfcu ds lkFk tqM+dj mldh vkWDlhtu dks vo’kksf"kr djus esa 

ck/kk mRiUu djrk gS 
71. The chief sources of nuclear energy are: 

 (A) Potassium and plutonium   (B) Magnesium and radium  

 (C) Uranium and thorium    (D) None of these  

 ukfHkdh; ÅtkZ dk eq[; L=ksr D;k gS\ 
 (A) iksVSf’k;e ,oa IywVksfu;e   (B) eSXuhf’k;e ,oa jsfM;e 
 (C) ;wjsfu;e ,oa Fkksfj;e    (D) mijksDr dksbZ ugha 
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72. Nitrous oxide (commonly called laughing gas) has been a matter of concern to 
environmentalist recently because: 

 (A) it is thought to cause cancer at low concentration  
 (B) it produce  photochemical smog   
 (C) it is a green house gas 
 (D) None of the above  

 ukbVªl vkWDlkbM i;kZoj.kfonksa ds fy;s fpark dk fo"k; gS D;ksafd& 
 (A) de ek=k esa Hkh dSalj dkjd gS   

 (B) QksVksdsfedy LekWx dk fuekZ.k djrh gS 
 (C) ,d xzhugkml xSl gS 
 (D) mijksDr dksbZ ugha 
73. Wildlife Week is celebrated on? 

 (A) 1
st
 October to 7

th
 October   (B) 15

st
 October to 21

th
 October 

 (C) 1
st
 June to 7

th
 June    (D)  15

st
 June to 21

th
 June 

 oU;tho lIrkg dc euk;k tkrk gS\ 
 (A) 1 vDVwcj ls 7 vDVwcj    (B) 15 vDVwcj ls 21 vDVwcj 
 (C) 1 twu ls 7 twu     (D) 15 twu ls 21 twu 
74. Which of the following plays an important role in the cause of rainfall? 

 (A) Evaporation       (B) Condensation  

 (C) Both evaporation & condensation (D) Filtration  

 fuEu esa ls D;k o"kkZ ds gksus eas eq[; Hkwfedk fuHkkrk gS\ 
 (A)  ok"ihdj.k      (B) la?kuu 
 (C) nksuksa ok"ihdj.k ,oa la?kuu   (D) fuLianu 
75. Which of the following is a biodegradable waste? 

 (A) Plastics      (B) Polythene  

 (C) Glass      (D) None of these  

 fuEu esa ls D;k ,d tSovi?kVd vif’k"V gS\ 
 (A) IykfLVd      (B) ikWfyFkhu 
 (C) dkap       (D) mijksDr dksbZ ugha 
76. Eutrophication means:  

 (A) Water purification    (B) Neutralization of waste water  

 (C) Waste water Treatment process  (D) Enrichment of nutrients in water 

bodies  

 lqiks"khdj.k ls rkRi;Z gS& 
 (A) ty 'kqf)dj.k     (B) nwf"kr ty dk mnklhuhdj.k 
 (C) nwf"kr ty ds mipkj dh rduhd  (D) tyk’k;ksa esa iks"kd rRoksa esa o`f) gksuk 
77. The major objective of the family welfare programs in India is: 
 (A) Disease control     (B) Employment generation  
 (C) Population growth rate control  (D) None of these  
 “kjr esa ifjokj dY;k.k ;kstuk dk eq[; m)s’; D;k gS\ 
 (A) jksx fu;a=.k     (B) jkstxkj lt̀u 
 (C) tula[;k o`f) nj dks fu;af=r djuk    (D) mijksDr dksbZ ugha 
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78. The protocol that reduces green house gas emissions is: 
 (A) Kyoto Protocol     (B) Vienna Protocol  
 (C) Montreal Protocol    (D) Cartagena protocol  
 xzhugkml xSlksa ds mRltZu dks fu;af=r djus gsrq dksulk izksVksdkWy fn;k x;k\ 
 (A) D;ksVks izksVksdkWy     (B) fovkuk izksVksdkWy 
 (C) eksafVª;y izksVksdkWy    (D) dkjVsxuk izksVksdkWy 
79. Domestic sewage is:  
 (A) Waste water from industries   
 (B) Waste water from nuclear power plant   
 (C) Waste water generated from kitchens and bathrooms 
 (D) None of the above  
 ?kjsyq xanxh gS& 
 (A) m|ksxks dk vif’k"V ty    
 (B) ukfHkdh; mtkZ la;a= dk vif’k"V ty 
 (C) jlksbZ ,oa Luku?kjksa dk vif’k"V ty  
 (D) mijksDr dksbZ ugha 
80. Acid rain affects: 
 (A) Soil  (B) Plants  (C) Materials (D) All of the above  
 vEyh; o"kkZ izHkkfor djrh gS& 
 (A) e`nk  (B) ikni  (C) inkFkZ  (D) mijksDr lHkh 
81. Environmental protection is the responsibility of:  
 (A) Individuals     (B) NGO’s  
 (C) Government of India     (D) All of the above 
 i;kZoj.k laj{k.k fdldh ftEesnkjh gS\ 
 (A) O;fDr       (B) xSj ljdkjh laxBu 
 (C) “kjr ljdkj     (D) mijksDr lHkh 
82. The objectives of the Wild Life (protection) Act 1972 is: 
 (A) To preserve the biodiversity   
 (B) Protection and conservation of wild life   
 (C) To maintain essential ecological and life supporting system 
 (D) All the above  
 oU;tho laj{k.k vf/kfu;e 1972 ds mís’; D;k gSa\ 
 (A) tSo fofo/krk dk laj{k.k    
 (B) oU;tho dk laj{k.k ,oa cpko 
 (C) ikfjfLFkfrd ,oa thou lgk;d iz.kkyh dks cuk;s j[kuk 
 (D) mijksDr lHkh 
83. Expansion of the term WWF is: 
 (A) Worldwide forest    (B) World wild life fund  
 (C) Worldwide life force    (D) World wide life forest  

 WWF dk foLrkj D;k gS\ 
 (A) oYMZ okbM QkWjsLV    (B) oYMZ okbYMykbQ Q.M 
 (C) oYMZ okbYMykbQ Q+kslZ    (D) oYMZ okbYMykbQ QkWjsLV 
84. Disaster Management includes: 
 (A) Mitigation      (B) Reconstruction  
 (C) Rehabilitation     (D) All of the above  

 vkink izca/ku esa D;k lfEefyr gS\ 
 (A) U;wuhdj.k      (B) iqufuZekZ.k 
 (C) iquokZl      (D) mijksDr lHkh 
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85. Landslides occur because of: 

 (A) Intensity of rainfall    (B) Steep slopes  

 (C) Deforestation leading to soil erosion (D) All of the above  

 HkwL[kyu fuEu esa ls fduds dkj.k gksrk gS\ 
 (A) o"kkZ dh rhozrk     (B) [kM+h <yku 
 (C) fuoZuhdj.k ls e`nk vijnu   (D) mijksDr lHkh 
86. Xerophytes are the plants: 

 (A) Grown in humid regions    (B) Grown in arid regions  

 (C) Grown in temperate regions  (D) Grown in saline area  

 e:nfHkn ikni gS& 
 (A) ueh ;qDr {ks=ksa esa mxus okys   (B) 'kq"d {ks=ksa esa mxus okys 
 (C) 'khrks".k {ks=ksa eas mxus okys   (D) [kkjs {ks=ksa esa mxus okys 
87. Better quality of life in cities and communities can be developed through? 

 (A) Development of agriculture     (B)  Social and cultural development  

 (C) Long term environmental development (D) Conservation of resources  

 'kgjksa vkSj leqnk;ksa esa thou dh csgrj xq.koRrk dks fdl izdkj fodflr fd;k tk ldrk 
gS\ 

 (A) Ñf"k dk fodkl     (B) lkekftd ,oa lkaLÑfrd fodkl 
 (C) nh?kZdkfyd i;kZoj.kh; fodkl  (D) lalk/kuksa dk laj{k.k 
88. When is World Environment Day celebrated? 

 (A) 5 June (B) 10 August  (C) 12 January  (D) 16 September  

 fo'o i;kZoj.k fnol dc euk;k tkrk gS\ 
 (A) 5 twu (B) 10 vxLr  (C) 12 tuojh  (D) 16 flrEcj 
89 Which of the following in a water body is indicator of its polluted state? 

 (A) Chara (B) Lotus  (C) Hydrilla      (D)   Algal bloom  

 fuEu esa ls dkSu tyk’k; ds iznqf"kr Lrj ds lwpd gS\ 
 (A) dkjk  (B) dey  (C) gkbZfMªyk   (D) ,sYxy Cywe 
90. ‘EIA’ is abbreviated form of: 

 (A) Environmental impact association   (B) Environmental impact automation   

 (C) Environmental information assessment (D) Environmental impact assessment  

 EIA fdldk laf{kIr :i gS\ 
 (A) i;kZoj.kh; izHkko laxBu  (B) i;kZoj.kh; izHkko Lopyu 
 (C) i;kZoj.kh; lwpuk fu/kkZj.k  (D) i;kZoj.kh; izHkko fu/kkZj.k 
91. Sustainable development refers to: 

 (A) Fast development    

 (B) Industrial development  

 (C) Development with environment protection  

 (D) None of these   

 lrr fodkl ls vfHkizk; gS\ 
 (A) rsth ls fodkl     (B) vkSn~;ksfxd fodkl 
 (C) i;kZoj.k laj{k.k ds lkFk fodkl  (D) mijksDr dksbZ ugha 



[1301]          Page 16 of 16                                                    

92. Important sources of land pollution are: 
 (A) Industrial Wastes    (B) Agricultural wastes  
 (C)  Both (A) and (B)    (D) None of the above  
 “wfe iznw"k.k ds eq[; L=ksr D;k gS\ 
 (A) vkS|ksfxd vif’k"V    (B) Ñf"k vif’k"V 
 (C) nksuksa (A) ,oa (B)    (D) mijksDr dksbZ ugha 
93. Natality refers to: 

 (A) Death rate of individual   (B) Movement of people to new homes  

 (C) Production of new individuals  (D) None of the above  

 tUenj ls vfHkizk; gS& 
 (A) O;fDr dh e`R;q nj    (B) O;fDr dk u;s ?kjksa eas lapj.k 
 (C) u;s thoksa dk mRiknu    (D) mijksDr dksbZ ugha 
94. Nutrients are recycled in ecosystem by: 

 (A) Biogeochemical cycles    (B) Energy flow  

 (C) Producers      (D) Consumers  
 ikfjfLFkfrdh ra= esa iks"kd rRoksa dk iqupØ.k ds n~okjk fd;k tkrk gS\ 
 (A) tSoHkwjklk;fud pØ    (B) ÅtkZ izokg 
 (C) mRiknd      (D) miHkksDrk 
95. Who is decomposer in an ecosystem? 
 (A) Snake   (B)  Fungi and bacteria  (C) Green plants    (D) All of the above  

 ikfjfLFkfrdh ra= esa dkSu ,d vi?kVd ds :i esa dk;Z djrs gS\ 
 (A) lkai (B) dod ,oa thok.kq  (C) gjs ikS/ks  (D) mijksDr lHkh 
96. Chernobyl is associated with? 
 (A) Nuclear accident    (B) Volcanic eruption  
 (C) Cyclonic hazard     (D) Air accident  
 psuksZfcy fdlls lEcfU/kr gS\ 
 (A) ijek.kq nq?kZVuk     (B) Tokykeq[kh foLQksV 
 (C) pØokrh [krjk     (D) ok;q nq?kZVuk 
97. Which are the useful methods to control gaseous pollutants of air?  
 (A) Combustion  (B)  Absorption  (C) Adsorption  (D)  All of the above  
 fuEu esa ls dkSulh xSlh; iznw"kdksa dk fu;af=r j[kus dh iz.kkyh gS\ 
 (A) ngu  (B) vfHk’kks"k.k  (C) vf/k’kks"k.k (D)   mijksDr lHkh 
98. Which of the following is a method to minimize the air pollution in the urban areas? 
 (A) Agricultural development    (B) Green belt  
 (C) Better housing     (D) Lesser use of automobiles  
 fuEu esa ls dkSulk 'kgjh; {ks=ksa esa ok;q iznw"k.k dks U;wure djus dk mik; gS\ 
 (A) Ñf"k fodkl      (B) gfjr iêh 
 (C) csgrj vkokl     (D) vkWVkseksckby dk U;wure mi;ksx 
99. Which of the following is a toxic metal? 
 (A) Carbon  (B) Cadmium  (C) Magnesium (D) Sulphur  
 fuEu esa ls dkSu ,d fo"kkDr /kkrq gS\ 
 (A) dkcZu   (B) dSMfe;e (C) eSXuhf’k;e  (D) lYQj 
100. Who form the first trophic level in any ecosystem? 
 (A) Herbivores (B) Plants  (C) Carnivores (D) Omnivores  

 fuEu esa ls dkSu ikfjfLFkfrdh; ra= dzs izFke iks"k.k Lrj dk fuekZ.k djrs gS\ 
 (A) 'kkdkgkjh  (B) ikS/ks  (C) ekalkgkjh  (D) lokZgkjh 

---------------------------------------- 


